Subtract: fill in the missing digits )7
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. Subtract: fill in the missing digits

Callﬁul te and fihljrihx‘e missing digits ( tick the correct answer)
d.
ﬂ5£7" 7 First of all let’s subtract normally from right to left
: 425015 p-5=p
‘ Secondly to the tens place since 2 -[ | = 9, so, think of a number that when
12892 we subtract from 2 will make the answer end with 9
You see that, if we borrow 1 from the next digit and add to 2 to make 12
then,12 {39
ext, to the hundreds|place let’s think of a number that if we subtract 5 from we will make the answer
end with 8. So, the missing number might be 3 since 13-5=8
ut remember that we borrowed 1 from this number [ [to add to the previous number(2
o, the lactuall missing number hereis 1+ 3 =4
Next, to the thousands place we have 4 - 2 = 2 since we removed 1 from 5/to add [to the previous numb
inally, at the ten-thousands place let’s think of a number that when we subtract 4 from
willlmake the answer end with 1
We know that 5 -4 = EG]_S_JE'77
So, the missing number is' 5 C 2 5@5
Therefore, the missing digits are ‘
12892
b 79052 7.4, and 3 c 1171 [z 2 ands
= 44 | |3 - 28 157
l | 7,6, and 3 DS and 7
3/4379 | 18746 )
DS and 3 MS.'.ardS
d 2710620 _B.and O e. 16l 18325 M?, and 4
- 11914 3]0 - 32660216
| flg. 8 and O 0l 5 ana 7
| 866240 9 18109
4 and O D 2,6,and 1
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